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7 e Uy BT 2 10 TEEE/N I =
7 W T 2 11~58 gE/N ImiIsE =
7 % WY T 3 1 1~7 THEkE/N IiIsE
7 e T T 3 1 8~15 FfEIE /N ImIsE=r
7 i W T 3 1 16 TEEE/N I _—h
7 i W T 3 2~17 AR /N IgE=
7 % I T 3 8 1~4 TEE/N WL —h
7 2 Wy T 3 8 5~21 R/ I =rh
7 i W T 3 9~31 FE U /1y IgE=
7 % WY T 4 FA IR /Iy B o
7 i W T 5 1~10 IR Ry 58 —op
7 W T 5 11~13 R =/ Ry 58 — o
+ BN 1 iR/ &iIh
&R 2 HiL/ HiIgh
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B R — ' (ERTAD FHI5F4R 1 HER
508 T % TH | &G 5 INERR AR ikl
) ER AT 1 ERig/ AFE=H
B AT 2 ERig/ AFE=H
B AT 3 ERig/ AFE=H
B AT 4 ERig/ AFE=H
B AT 5 AERAE=/I FERAE=F
B AT 6 ERig/ AFE=H
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